BT

th 4k BEERL
FRE —t—KAEF AD
e ST / 40

Hepl ( )

ek - /S

PREF © 25 77§

HHER  JERE - WERREEEME E - TEFIITER - @4 59)

L G MIER - (2 97)
(a) 12x+ (5x = 3)

(b) (2x? —5x) — (x> — 1)

2. JEBATAIEE - (297)
(@) 2+3»)(2-3y)

(b) Ox +y)’

L B (30 77)
L AEGENE EAESRE > B0 < DIRRBFHEZRBE G -

(@) 23 3.2 (b) 23 49

2. EHER LR x <-4 1R -

(c)

(a)

(b)

(a)

(b)

13

A

3. MEER - Dlx BEE - ZSHAEA -

0

A

v

10
4. DIAFAFR MIEAT - (353)

(a) FHIEPNREE (1°C) /& 26°C 5PLE -
(b) —FREBGRIVERE (v ER) ED0R 15 EK -

v

(¢) —HRE AR EAYEER (vkm/h) A AN 80 km/h -

(3473)

12

(143)

(153)




5. MENHIAE > WERR EFRRAEAXNHE - (12 9)
(a) x+5>-3 (2 47) (b) 7-x<4 (3 4%)

() 6x—1<dx—7 (3 43) (d) 23-x)23x+ 11 (44})




6. (a) ﬁ@x%?ftzmzx;“  AAEBE FF TR SR - o (459)

(b) & x ZHEE > K x BB INATEEE © (197)

7. B SR ABC WY E RS/ NE 27 em c AB=AC=xcm f1 BC=5cm -
(@) SKx{EAVEHE -
(b) K ABHIEREERE -

X cm




HEP - BEEE (6457)

1. BZ/D(EEBE x oe A EH 3(x+5) <187
A 3 B. 2
C. 1 D. 0

2. —ENIAH 43 B $2 BERGHT $10 BEES - FZ N FTA EREIVAEE 2 $266 > $10 BEEE

A E24
A. 251% B. 241
C. 191 D. 18#%

3. EFFRRE—ERITIV  HEERAR 36 cm® o FHIME R IERE ?

A. x<3 B. x<5

C. x<£3 D. x<5 (x—2) em
BIEEEEMN
12 cm A B C D
. 3 =33 =3 &3
2.3 =3 3 3
3 03 3 |3 =

PRERRE(S 73)

(a) fEFR E 3 4x7+ 6 o2x=3) -

(b) A FN 2x-10<0 -
() & x BEE > Hill x1{E > £ x [FFiEE () ~ O)E D AEH -

— &E5 —



